[ Fake rate vs normalized x? [ Duplicates Rate vs normalized x? [ Pileup rate vs normalized x2 |

v 08— v Of——————————————— 7 + 0.01
o N o e =~ F
2 07 £0.09 £.009
Q o F
= 30.08:—
5 0.6 = E
g $0.07F
05 So.06f
a o
0.4 B0.05F
03 0.04F
0.03f
0.02F
0.0+
g = B :
14 o Sp :
of
%24 6 8 10 12 14 16 18 20 D 2 476 8101214 16 18 20 © 2 4 6 8 10 12 14 16 18 20

track X2 track X2 track X2

| ar\fnr 1000a\t

[ Fakeratevs.| —=— Sil= = H’Zé #ﬂ@?@UTLlEM 1000evt
o 0.8

0.7

0.8 0.6

0.5

0.4

fakerate vs seeding layers

0.3

0.2

duplicates rate vs seeding layers

UL S L L B

Ratio
iy

Ll
a1, T

Ratio




	Contents
	Page 1


